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AMee 33 faow fofes emofa (MCQ) (it w3 Taafd fdiva @t - 1%60=60
1. s =T #fde ad Rrerad zran —

a) S+ +5+9+3+9 [ ]
) S+9+5+3+9+ [ ]

2. ‘QIva’ WHva RANS 1w e —

a) WS [ ] b) eifewa [

b) T+*+5+B+A+7+9 ]
d) Q+4+5+3+9 []

¢) aadirs [ d) 9Fs []

3. arece dafars Afen fFaa fese comft s d == tefa zra?
a3y [] vtz ] o<nwazna[] awa=naz]

4. ‘Rofer =raa el s« g6 —
a) IS [ b) se=al [
5. CIMEMD ‘I Wrwa FALS W% 797
a)%g [] b) =g [ ]
6. (N (TSI ga?
a) O« - 9o
- AW [
¢) O - % Torwad
e - 37 []
7. 39 Erelo s
a) e - AAOA
Fa -3 [
o) foe -
foe - =1 [
8. ‘cC *iox fAeIsre 1 zran —
a) Romt [] b) #are [ ]

9. % == BiFeTa —
a) S+F++5 == [ ]
¢) B+@+T+3+% = t5a [

10. % &I TNLF XA —
3 a) Gl [ b) wet []

¢)3rem [] d) fagzrer [

¢)raw [ d) *ratga [
b) WG - WA
@) - <9 [

d) S - Care!
o - ed [

C)WD d) R [

b) +I+T+F+H = o7 [ ]
d) A+ T+ A+T+T+3 = gEieifs [

c) F&4 [ ] d) ¥F1 []



12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

[gehu- 3

Find the opposite word of ‘HARD’ —

2) FAT [] bsorr []  osum[] d) STRONG [ ]
Baby of ‘Cow’ is — .

a) Lamb [] b) Cub [] ¢) Calf [] d) Kid []

Find the odd one — )

a) Tea [] b) Coffee [] ¢) Soup [] d) Biscuit [ ]
You young then. [Fill in the blank with appropriate be verb]
a) am [ ] b)is [] ¢) were [] d) was []
Which sentence is written correctly ?

a) The dog bark [ ] b) The dog barks []

¢) The dog bleat [ ] d) The dog bleats [ ]

Past tense form of the verb ‘walk’ is —

a) walked [ ] b) walks [_] ¢) walkd [] d) walking []

A female horse is called —

a) horses [ ] b) hind [] ¢) horsen [] d) mare [ |
Which one is incorrect?

a) A bee can fly. [ ] b) Ants move in a row. [ ]

¢) A grasshopper is yellow in colour. [ ] d) A bug can bite. []

He is one eyed man. [Fill in the blank]

a)a [ | b) an [ ] c) the [] d)on []

The possessive pronoun of ‘I’ is —

a) Me [] b) My [] ¢) Him [ ] d) Mine [ ]

o 7 e wata 19l 303 Sl wEera R siee oifs —

a) o [] b) &Yy [] oasbea [] da)>® [
yto=7¢

a)o[] b)> [] oo [] d) SeErs [
b b TCEF (FIT FHRA 7K do TF Rrwre Ay st T3 ciores 73 —
a) (&G 7 [] b) fRrets siap [

¢) Gitfers syt [ d) @ 3Ry [
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26.

[Tty - 9]

@S> (3 3 MU Qd FICA Q) & QIFe GEF2 HLA LA 7

a)o [] b)> [] o)as [ d) Fen wa = [
o, 0, » WAl Sif¥® fo7 Wree 3zex ¢ FHen Ay TG F7?
a) >ov [ ] b) b&d c)o8 [ ] d)as8 []
CHIT A2 R0 w1 ot e it wrr @m cam weep wrE ey 7y
a)y, % [ b)s,a [ ¢)3,8,¢ [ d)3,8,a5 []
27. AHA A WEHTS §, A, 9, ¥ 93 T4 9 9 3?7
R 9 YD
+ 99 9 v
@ S > o

28.

29.

30.

31.

32.

33.

34.

a)Q:Q)O:OD b)Q)chsQD C)Q,Q,Q,QD d)Q,Q,Q,QD
dEFTH = PO JYHA?

a) Yoo [] b) o [] ¢) Yo [] d) soco []
H1S WA (FF MRYD TR 8y +0=___ ]+
a) 8v8 [ | b) 838 [ ] ovs [ d) sy [ |
AAAA AAA A A o
AAAA A AA A A -
DAA] O wi|O J|AA O wEaA O
@1 =S (e Yo e e ?
a) *ffeiR [] b) &= [] o) F=ita [] d) == [
G711 SoICed HICHEE I8 42 T —
a)7d [] b) =@ [ o) IS [ d) T8tE= [
@t S A 2R weee !
)7 [] b) =< [] o= [ d) &= [
cshats z& AR '
a) *tret [] b) ¥ [ )%= [] d)@te [
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36.

37.

38.

39.

40.

41.

42.

43.

44.

45.

[gom - 8]
firgfbs o ol T —
a) 4fw o= cats [ b) el c2tF []
¢) =% c¥tE [ d) courd caim (2AtF [
(ST WCHE SIZCTA F (S (F 27
a) e [ b) sttt [ o) wf [] d) == []
G Si6! WHATE AGCA ATRA |
a) Fle [ b) #ret [] o) Fa [ d)wa []

T Areo 7Y T4 A s AS (orrE B oI —
a) Corra = fure A<d ¢ 719 = [

b) cotsra 3= AFra 8 (=6 =3 [

¢) corata #f¥om fars retd @ == =3 [

d) COISIA AR AIFTa 8 (70 2A [

siwfer (o b SiFe RYrs? )

a) g™ []  b) (R AIG OFgFqe) [ d) FEEe = [
ST el ST (F 2T I ?

a) SI6TY Gatar<oe <9 [ b) wizEE e [

¢) FrerEId 99 [ d) oA TS [

‘R IS FCS Io71 T?

a) FEe 313 [] b) 3fETHm vLgienyE [

c) TR WA [ ] d) rerEaid wa ]
IGATOd (™ e —

a) A9tE [ b) ©r@e [ ] ¢) At [ d) o= []
¢o I73 *ffer=s f& T =
DTEeEEe [ by [ oRIEm® []  d) e s [

Y GIITed (I SZ0S &1 8% =01 W ?

a) T [ b) %3 [] o)eF [ )3 [
SEToR (EIRAE FIE @ 2 ?
a) =&l FEAS A9 [ b) W IETS SR o= [

¢) gt ot [] d)sae e []
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49.

50.

S1.

52.

53.

54.

35.

56.

(P10 - ¢]

oAfS5IATHA ST NN 1w Far p
a) A0 (%A Bt [ b) crg) ot []
o) fiez [] d) =ta []
41, AN R wefim s sivs s s R e o0 23
| a) GO 3 fiam [ b) catel st [
¢) e ST e [ d) Tréh frem a1 [

. ORI 9L FCEAA 07 SRTOA (@19 IS S ?

a) *ffeewras [ b)eiferg (] o) w=3E [ d) =R []

A (ATZR FIHTA T % (FA0 ?

a) 7f?e [ b) 73 [ o) T [ d) s []

ST el WiEE elyewgR i e

DFRAMRN ] bv@ERT[] o efesroifea [] d) seafe agg [
@A Faio ofee $1a —

a) forg [ b) coftst [] c) StorE [ d) ¢t [

TSI WL i Toretars e wisiiete i qa 203 e
a) J¥A14 |:| b)rn?ma [] ¢) @z [ d) ©&FaE [

a))‘a b)vEl ) [] d)ve []
CAT =90 %, DOG="?
a) 8ae> [] b) 8ov [ ] c) 8eq [] d) o9y [

rqe W 2o T, T T S 2, Wi T we 21 g2e =i 1f w e 2 et
IFITA AR ?
a) St [] b) @feat [] o) 7@ [] dy== [

A5, Bb, C9, :
2) Do [] b) D> [ ¢) Ea [] d) Ev []
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89,

60.

[P - ¢

@ Pafbre =1 fagw wite?
;’

e [] b) > [] ¢)vo []
s @m 39 ovg wold afefRry a2 e’
a) AOP [] b) TAT [ ] ¢) TAI []
Tf# FISH = HISF T O LION = ?
a) NILO [] b) NOIL [ ] ¢) NOLI [ ]

V}/‘l e e @

Al <7

a) }: b) : < o[> )

d)8 []

d) uob []

d) NIOL [ ]

d) (£




